o7 ATHE] A
2 Selx ~oE

= 8Y/HMIZ olo|x]

o

— EE

THE!:
AEQIHA AE]
EZg|ot0|E O &l

EM OpR2]:
Xtedx iR 2|,
j_'E.=! )LI-!(ADF: ﬂ_l.EI-A_l'l 74 X4 AH EEE ik 7 | AH

HH.

MH|7t 2 s

WAL ES M X
o

X3 &Ejol

AMIME:
K0106
K0384
K0390
K0392
K0667

RAL 7021 RAL5002  RAL 3020
A = O A = 1 A = 3

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/3



[ ]
3l 22Hiz A 51 A HE XS HEln] A= A El
7 ST T 8, MY SUI A TS, AL 2E
=M
@ @
S,
R
e & o [ D
C.)l": a o (&) o
Jr P NEaE:
B6 2|1 pmll o
A2 A2
A .
8 ®
4 D
~B1
@l
A2
E529%
2 SUS S STY, TYY SUY ALE, AHQIYA AL
FEHS TEE Y FHE B9 T Jm9 23 298 Edn  =2dgE 2499
= zZE HEZE FH  F1 F2 F3 F4
N N N N N
K0660.104001 & A RAL 5002 1 87° 69° 80 400 500 250 300
K0660.105001 A RAL 5002 2 86° 67° 100 650 900 550 620
K0660.106001 E’Z‘é“‘ RAL 5002 3 86° 67° 160 1350 1900 720 1200
K0660.108001 =M RAL 5002 3 86° 67° 200 2000 2800 830 1400
K0660.104000 ?:'Izl’i'.* RAL 7021 1 87° 69° 80 400 500 250 300
K0660.105000 Az RAL 7021 2 86° 67° 100 650 900 550 620
K0660.106000 A3|M RAL 7021 3 86° 67° 160 1350 1900 720 1200
K0660.108000 A 3|AH RAL 7021 3 86° 67° 200 2000 2800 830 1400
K0660.104003 4= S Wz RAL 3020 1 87° 69° 80 400 500 250 300
K0660.105003 AE 5 Wz RAL 3020 2 86° 67° 100 650 900 550 620
K0660.106003 Az S ¥WZ RAL 3020 3 86° 67° 160 1350 1900 720 1200
K0660.108003 4= S Wz RAL 3020 3 86° 67° 200 2000 2800 830 1400
FEHS TEE M4 M AA1A2 A A B B1 B2 B3 B4 B5 B6 C C2 D H H1 L L1
K0660.104001 = A RAL 5002 M4x16 1624 4 12,8 0,95 16 24 10,2 7,2 12515 20 11,7 4,95 4,2 28,7 26,3 91,8 23,7
K0660.105001 =M RAL 5002 M5x25 18 27 45 13,5 - 16,8 273 13,2 92 - 2 225 17,2 5,255,5 43,4 38,9 125,7 41,8
K0660.106001 = H A RAL 5002 M6x35 26 39 6,5 - - 28 39 175125 23 25435254 - 5,563,7 59,6 186,6 60,5
K0660.108001 = A RAL 5002 M8x45 26 44 9 - - 31 45 21 16 24 25415322 - 6,2739 70,1 223,1 74,9
K0660.104000 4 3|AH RAL 7021 M4x16 1624 4 128 0,95 16 24 10,2 7,2 12515 20 11,7 4,95 4,2 28,7 26,3 91,8 23,7
K0660.105000 Z3|AH RAL 7021 M5x25 18 27 45 13,5 - 16,8 27,3 13,2 92 - 2 225 17,2 5,255,543,4 38,9 125,7 41,8
K0660.106000 3| M RAL 7021 M6x35 26 39 6,5 - - 28 39 175125 23 25435254 - 55637 59,6 186,6 60,5
K0660.108000 A 3|A RAL 7021 M8x45 26 44 9 - - 31 45 21 16 24 25415322 - 6,2739 70,1 223,1 74,9
K0660.104003 A5 S ¥Z RAL3020 M4x16 1624 4 12,8 095 16 24 10,2 7,2 12515 20 11,7 4,95 4,2 28,7 26,3 91,8 23,7
K0660.105003 AESE WZ RAL 3020 M5x25 1827 45135 - 16,827,3132 92 - 2 22517,25255543,4 38,9 1257 41,8
K0660.106003 Az S ¥Z RAL3020 M6x35 26 39 6,5 - - 28 39 175125 23 25435 254 - 5,563,7 59,6 186,6 60,5
K0660.108003 LS5 WZ RAL 3020 M8x45 2644 9 - - 31 45 21 16 24 25415322 - 6,273,9 70,1 223,1 74,9
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



K0660

—’
—

60
Kl
Ki

0
<F
0

<k
H

i

ml

or

or
Hio

3/3

www.kipp.com - info@kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



